E:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 49+6= 2) 32+3=
- 1.
2.
3.
3 74+2= 4) 70+2= 4.
5.
6.
7.
5 42:2= 6) 41+4=
8.
9.
10.
7) 37+4= 8) 46+7=
11.
12.
9 82+2= 10) 26+4 =
11) go+2 = 12) 52+2=
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Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 49:6= 8rl 2) 32+3= 1012
3) 74+2= 3712 4) 70:2= 3512
5) 42:2= 2112 6) 41+4= 10r1
7) 37+4= 9rl 8 46+7= 6714
9) 82:2= 41r4 10) 26+4= 612
11) 92+2= 4612 12) 52:2= 2612

10.

11.

12.

Answers

8rl

10r2

37r2

35r2

21r2

10r1

Orl

6r4

41r4

6r2

46r2

2612
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